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1. Many teachers believe that getting more sleep could help their students score higher on final
exams. When studying these variables, which of the following is true?

SLCem uas M EFFEC
1. The explanatory variable is sleep, and the response variable is finals grade. o SC el
I1. The teachers expect to see a moderately strong to strong positive correlation. L/uf(

11, If the correlation of the data gathered is 1, the teachers can assume that sleeping more

will raisc a student's final grade. l s A | Te ) G (In T
a. lonly
b. Il only
c. IIT only

d. [ and 11 only.

@1. 11, and 111.

2. The least squares regression line of data describing the relationship between age (x) and
number of driving accidents (y) is y = 4.7 - 0.17x. Which of the following statements is
incorrect?

- ,@Typically, the incidence of driving accidents decreases with age. MCGAT W sLyr

The equation can be used to accurately predict driving accidents for any age. \NO  ARTEL 29 TS B,

Oyl adibenTs would
- @The predicted number of driving accidents for a 16 year old is 1.98 %WIL, ‘ denTs gjo
: 2 4,7 -07016\ = 1% BE NEOATIV
- @ Driving accidents, on average, decrease by 0.17 for every year older a driver gets.
’ —.17 Per ¥R
-t @ Timmy Tim is 18 years old and has been in two accidents this year. He is above average

for his age group. &S, HE 15 &XPCO @ T° Upve LY AeunGus g
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L An AP statistics student set out to study the relationship between a movie's budget and box
office success. The scatterplot below shows her findings (with budget in millions of dollars).
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a. Briefly describe the association of the scatterplot. y
ALTHoucH TuerE s some CoRREN TN I Wialh sa¥

i7CeTs WehkE AS A FLmS Buoer RSE,

b. The least squares regression line is: y=1Q93§900+389JS35x. Analyze this in the

context of the study. STNL?'Wa AT Aoy OFﬂ(é Crlvss OF 10‘9 ,14/([/0/\//
e | Millivy SPLy7 TV MAKE THE  Alovie WL INCQEASE’
oy KPS SlasS REer’s Pt 3389 S35,

¢. Calculate and interpret the residual for The Hunger Games, Mockingjay: Part 2, which

had a budget of $160 million dollars, and made $102,665,981 in the box office its openiI;*g’ THIS MaVi
AT P(NFo I A

weekend. PrealCT€D Valuc = }I’ 10,97(/900 -\'39)73'2';(’(70) TNE EX PK P~
Y2373 ,2(L,500 he EXPeRT g0
Aaunl VAUe —s v - jog (4596 Incp \ Betunt WE
Lesaunl = ACTUM (MLNSUED) VALLS —  PREDITEN Auj_$29
065, 1€l — 73,260,500 = 403,99 )

d. The r* of the data is 0.2933. Can the least squares regression line be relied upon to

make accurate predictions? NO Z7T %SQ’MT(/\L(—Y O.ﬂ/(-“/ 27/ 4((VMT£
X 7l re unue of U332 AounTS fon oY B3y of THS
Va AV e

2. Explain why a high correlation does not imply causation.
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